o(d x) (um) for PV

Ratio

o0 X) (um)

et b
44 Tt o ey

o(d x) for merged vertices (um)

Ratio
Ratio

-

10?

So. (Ge\})03

a(dy) (um) for PV

Ratio

a(d z) (um) for PV

Ratio

1 10
$p. (Gev)
DOM_TT _mMRFT-DOM 01132
—— DOM_TT mkFit-DOM_new132
—W— DOM_TT —mkFit-DOM_newfast132

EEEERE £
H 2
10%E: =
)
5

10

1.udf
-+
F -+
1F > J-4-
F T+
0.95H |-
0.9

10?

10?

10

-
[

Loy
o
G

e
THTTTT

0.95E
0.9

Ratio

0(0 2) (um)

Ratio

o(d y) for merged vertices (um)

Ratio

o(d z) for merged vertices (um)

Ratio

10° e

10?




	Contents
	Page 1


